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Run 6094 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 34903
Mean: 16.5112 «/- 0UDD29
St Doy 0.5487 4 00021

=== Lager OFF ---
Entries: 32132
Mean: 37018 «- 006017
Sid Dhey: 03070 = 00072

Run 6094 quartatwize, Diffs)
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=== Laser O -—

Entries: 34983
Mean: -0.TE58 < - QLOO2S
Sid Dhey: 0U635T - 00020

=== Laser OFF ---
Entries: 32132
Mean: 00000 +- 0.0023
Sid Drey: 04038 -~ D006

Run 6094 quartetwize, Asyms

=== Laser ON -—
Eniries: 34983
Mean: -31.5625 +- 0.1174
Sid Dev: 21.9645 4/~ (LO&3A0

=== Laser OFF ---
Entries: 32132
Mean: 00003 +- 0.0924
Sid Deyv: 165569 +/- LWDEET
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Run 6094 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-

Enlrie=: 34903
Mean: 16.2810 «/- 00030
Sid Dhev: 05704 & 00022

=== Lager OFF ---
Enlries: 33132
Mean: 37008 «/- 00017
Sid Deyv: 0308 - 00072
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Run 6034 quartetwize, Sums(

=== Laser O -—-

Enlries: 34983
Mean: 31,7922 - 00053
Sid Dev: 09832 - 00037

== Laser OFF ---
Entries: 32132
Mean: TACSE +- 0.0006
Sid Deyv: 04543 - 000708
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Run 6034 quartetwize, PosHalAccd
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L L L I L L L L I L L L L I L 1 L L I L L L _I—l—u"' 1 L L I 1 L L I L L 1 L L L 1= 1 I:':.
5 10 15 20 25 ETH a5 ETH) db
Run 6094 quartetwise, Diifsd
: — L O —
__ tninea: H&ET
— Main: 241772 A0 - BEELITG
— S bre: 1TATATRAATS 0 45193780
— — L DFF —
_— Crilnea: 3377302
— Miain: -E1ESSED « 3424 3068
— sz Dwre: B1SA 316816 +/- 2421.3130
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Run 6094 quartetwize, Asymsd

— === Laser ON -—-
— Eniries: 34903
— Mean: -31.9736 - 0.0901
[ Std Dev: 168446 4/~ 00637
- === Laser OFF -—-
. Entries: 32132
[ Mean: -0.0214 & 00453
— Sbd Dev: BATTT +~ 00320
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Run 6094 quartetwize, Asyms USbgl
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=== Laser O -—

Entrie=: 34903
Mean: -0.0030 «/- 00OSD
Siadl Dhey- 0.5615 & 00021

=== Lager OFF ---
Entries: 32132
Mean: -0.0010 «/- 0u0XE
Sid Dhey: OU561T = 00022
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Run 6094 quartetwize, Asyms DSbg1

=== Laser O -—

Entries: 34983
Mean: -0.00053 «/- 00009
Sid Dhey: 00742 4~ D00

=== Laser OFF ---
Entries: 32132
Mean: -0.0001 /- 00004
Sid Dey: 007G &~ 00003

Run 6094 quartetwise, Asyms Horiz Fingar

=== Laser ON -—

Eniries: 34983
Mean: -0.0027 <« 00012
Sid Drey: 02412 4~ 00009

=== Laser OFF ---
Entries: 32132
Mean: -0.0004 < 0001 E
Sbd Dhey: 02730 - 00071
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Run 6094 quartetwize, Asyms UShg2

=== Laser O -—-

Enlrie=: 34903
Mean: -0.0006 «- 0020
Sid Dheyv: 03722 & 00014

=== Lager OFF ---
Enlries: 33132
Mean: 000028 +/- 0.002
Sid Deyv: 03750 - 00015
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Run 6094 quartetwize Asyms DShg2
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=== Laser O -—-
Enlries: 34983
Mean: 00002 «/- 0.0004
Sid Dev: 0L0GET & 0003

== Laser OFF ---
Entries: 32132
Mean: -0.0003 «- 00004
Sid Dhev: 0L0GET &~ 00003

Run 6094 quartetwize, Asyms Vert Finger

=== Laser O -—-

Entries: 34983
Mean: -0.0047 «/- 0001 2
Sid Dev: 0.0179 & 00000

== Laser OFF ---
Entries: 32132
Mean: 000243 +- Q.0014
Sid Dev: 02516 &~ 0,000
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Run 6094 quartetwize, posHE vs time
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Run 60294 guartetwize, negHO vs time
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Run B024 guartetwize, summd vs time
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Run 6094 guartetwize, posH4 vs time
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Run 60294 guartetwize, negH4 vs time
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